
c = b− f(b)(b− a)

f(b)− f(a)
=

bf(b)− bf(a)− bf(b) + af(b)

f(b)− f(a)

c =
af(b)− bf(a)

f(b)− f(a)

|ck+ − ck| ≤ × −t

|ck+ − ck|
|ck+ | ≤ −k



f(x) = x − x+
b = a = f( ) = f( ) = −

x =
af(b)− bf(a)

f(b)− f(a)
=

× − ×−
− (− )

= =

f(x ) = −

x =
× − × (− )

=

f(x ) = − ⇒ a = , b =

x = , x = , x =

, x = , x = , · · ·
x · · ·

x x = g(x) f(x) =

f(x) = x x = g(x)

g(x) xk+ = g(xk)

x α f(α) = lim
x→∞xk = α

f(x) = xex −

xex − = , f(x) = ⇒ xex = ⇒ x =
ex

= e−x, g(x) = e−x



f( ) = − < , f( ) = >

xk+ = g(xk)

x =

x = e− =

x = e− =

x = e− =

x = e− =

x = e− =

|x − x | = ≤ × −


